Senator
1545 99795

= o

J

O\
Y

G

m J Habitat
et Jardin

2023-2024



Ref:1545 99795

1 / 830X460X200 MM X2 11
2 830X460X200 MM X2 11
3 @ 830X460X200 MM X1 111
4 % 115X95X1 MM X2 11
5 ﬁ' 830X460X200 MM X4 11
6 ] 390X390X60 MM X2 111
7 / 395X425 MM X2 11
8 830X460X200 MM X1 1n
9 m 830X460X200 MM X1 11
10 ﬂﬂj] 830X460X200 MM X1 11
1 lj 830X460X200 MM X1 11
12 / 830X460X200 MM X1 11
13 E 320X320X5 MM X2 11
14 @‘) 150X38X11 MM X1 11
15 @ 120x95x25 MM X3 11
16 f’ 70X25X25 MM X4 11
17 ﬁ 490X340X70 MM X4 11
18 K 610X150X225 MM X2 11
19 @ 80X30X25 MM X8 11
20 T 270X85X19 MM X2 11
21 ﬁ 25X25X5 MM X1 11
A ’ M6X45 MM X 10 1
B @ M6 X 12 11
c Juu M6X10 MM X2 11




Ref:1545_99795

FR : SAV/INFORMATION /VIDEO/CONTACT

EN: AFTER-SALES SERVICE/INFORMATION/VIDEO/CONTACT

DE : REPARATUR-SERVICE UND ERSATZTEILE /INFORMATIONEN /VIDEO/KONTAKT
ES: SERVICIO POST-VENTA/INFORMACI N/VIDEO/CONTACTO

IT: SERVIZIO ASSISTENZA/INFORMAZIONI/VIDEO/CONTATTO _

PT: SERVICO P S-VENDA/INFORMACOES/VIDEO/CONTATO

PL: SERWIS TECHNICZNY/INFORMACJE/WIDEO/KONTAKT
NE: AFTER SALES SERVICE/INFORMATIE/VIDEO/CONTACT

HE: 'xm wnin my>in/n Ty /nn IRy npwn vo



Ref:1545 99795

Step 1 i i

Step 2

A MBX45 (e X6
B: M6 ® X6



X2
X2

®

C: M6X10 g
M6

B:

(4 p)
4] ) )
LR
/JT/
)
_ )

Step 3

Ref:1545_99795

Step 4

X4
X4

MBXA5 g
®

M6

A:
B



Ref:1545_99795

Step 6




oo
(oF
)
-

w

Step 7

Ref:1545_99795




